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1. How did the kids feel when they got the good news ?
2. Peter lives in one of the houses on the street.
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1. If you call now, ~you will have (get) a chance to stay at a five-star hotel.

2. His friend lost his (the) wallet, so he asked Mark Twain _to pay for his ticket.

3. After he tasted the (this) ”brown rice pudding”, ~he fell in love with it.

4. On Valentine’s Day, many (a lot of) lovers,~choose to have a date near the Eiffel
Tower ~and enjoy the (this) festival /by hugging and kissing each other.
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1. Emma goes to work every day. ( #-now :z % every day )
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1. My father listens to music after work every day. (2 %4 )

2. Mike brushes his teeth  only on weekends (on the weekend), butIdon’t. (3 4 )

3. Elephants can remember things for a long time, and some can even paint. (draw) (3 4 )




